
Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012

Bianchi Vending Group - Spare Parts 
Catalog: 

 BV676CL02GG - BVM676 700 183 LXCO 3°     



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012

Summary 

BV676CL02GG - BVM676 700 183 LXCO 3° 1

BV676CL02GG - BVM676 700 183 LXCO 3° | DOOR 2

 FRONT DOOR (613) 3

 INNER DOOR (750) 5

 DOOR LOCK (606) 7

BV676CL02GG - BVM676 700 183 LXCO 3° | PRODUCT DELIVERY 9

 FALL PRODUCTS (614) 10

 COMPONENTS DISPENSER ITEMS (814) 12

 COMPONENTS PRODUCTS SHELF (610) 14

 ASSEMBLY SHELF FE SANDWICHES (616) 16

 LAYOUT SPIRALI DISPONIBILI(139) 18

BV676CL02GG - BVM676 700 183 LXCO 3° | COOLING UNIT 20

 ASSEMBLY COOLING GROUP (607) 21

 COMPONENTS COOLING GROUP (608) 23

BV676CL02GG - BVM676 700 183 LXCO 3° | ELECTRICS &
ELECTRONICS 25

 NEON-ELECTRIC COMPONENTS - POTENZA BOARD (643) 26

 ELECTRONIC BLUE POWER BOARD (952) 28

BV676CL02GG - BVM676 700 183 LXCO 3° | CABINET 30

 CABINET AND COMPONENTS (751) 31



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   1

Group charts 

 BV676CL02GG - BVM676 700 183 LXCO 3°



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   2

Group charts 

 BV676CL02GG - BVM676 700 183 LXCO 3°
 DOOR



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   3

 FRONT DOOR (613)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  3

FRONT DOOR (613) - Item detail:

Position Code Options Description

1 03217011P54  F/IX door RT-side cover plate  
2 03211511P54  676/85 F-IX door upper and lower central support  
3 03211611P54  BV676/IVS door upper closure  
4 32346916  M6X18 QST TD nickel screw  
5 05240311-01  BVM 676/85 IVS door lexan pane  
6 03211411P54  676/851 IV door left inox covering plate  
7 03211911P54  676 door up/low int. closure  

100 1394  FALL PRODUCTS (614)  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   5

 INNER DOOR (750)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  5

INNER DOOR (750) - Item detail:

Position Code Options Description

1 08023311  BV676 IVS door magnetic gasket  
2 08020816  Aerstop adhesive gasket 3x10mm  
3 05240215-01  Glass chamber BV676/85  
5 03211111  BVM676 SLAVE door frame  
6 05243316  BV676SL RTvert.glass fix.outl.  
7 05240616  BVM685 upper/lower horizontal outline blocking glass  
8 03219211  BVM676/85 IVS micro guide  
9 03227711  Product conveyor  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   7

 DOOR LOCK (606)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  7

DOOR LOCK (606) - Item detail:

Position Code Options Description

2 03232411  Lock thickness spring  
3 21015516  Rielda lock for VEGA handle)  
4 41029836  Rielda's lock key EMK handle  
5 43001726  Emka unblock-key  
6 32155316  6MA x 10 hex screwank  
7 35160616  Ø 8.3 self-locking washerODE  
8 03211311  Lock shoe  
9 43130310  vega handle with lock nut  
10 32090636  TE 5MAx18 screwank  
12 03230612  Lower lock connecting rod assy  
13 19116611  Rod closure bush 9x4,5x3  
14 03230512  Upper lock connecting rod assy  
16 19116511  BVM676/685 lock hooking pin  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   9

Group charts 

 BV676CL02GG - BVM676 700 183 LXCO 3°
 PRODUCT DELIVERY



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   10

 FALL PRODUCTS (614)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  10

FALL PRODUCTS (614) - Item detail:

Position Code Options Description

1 03234612  BV676 SLAVE products exit assy  
2 43053910  IVS TX RT/LT sensor assy  
4 26035230  Product delivery sensor  
5 01841510  IVS TX left sensor assy  
6 01841520  IVS TX right sensor assy  

100 1659  COMPONENTS DISPENSER ITEMS (814)  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   12

 COMPONENTS DISPENSER ITEMS (814)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  12

COMPONENTS DISPENSER ITEMS (814) - Item detail:

Position Code Options Description

1 05115635  Push door V850 blackonL=53  
2 43124712  BV676/85Push counterpanel assy  
3 34110416  6MA hex nut  
4 03225911  Antitheft plate lever  
5 12016421  Antitheft panel threaded rodAristos  
7 03234211L16  Product exit antitheft panel  
8 03138111P46  LAMIERA VANO INF. BV676/85 IVS  
9 03138211P46  BV676/85IVS prod.exit casing  
10 34113016  M6 threaded insert  
11 32130716  M6X20 cross-headed Zn screw  
12 21057826  70MMquick-closing product exit  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   14

 COMPONENTS PRODUCTS SHELF (610)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  14

COMPONENTS PRODUCTS SHELF (610) - Item detail:

Position Code Options Description

1 30071621  Vega A-B selection numb.labelsa A/B  
2 30093311  price labels (Euro)ures  
3 96043610  drawer regulatororsxbottles  
4 22105612  drawer cableorion  
5 07034111  Stop tray spring  
6 05124225-02  drawer separator blackl  
7 12015611  hingeer  
8 07015516  spring-971  
9 21014241  BV676/685 drawer label holder  
10 05124325-02  black plastic drawer V850  
11 05127815  bottles support bottom partate  
12 21012811L24  bottles support)plsCAM  
13 21014341P  676/85 punched label holder  
14 05127715  bottles support frontal partate  
15 01498722  Pls 42mm bottle guide  
16 01583211  plastic drawer section regulation  
17 00109356  special screw M3TT  
18 05241211  Stop tray spring thickness  
19 07018611  vega motor shaft spring-971  
20 20016016  gearmotorpm  
23 20017616  vega spiral motory  
24 05116516  ejector for spirale  
25 35157616  plain washer Ø.4,3 ac.ODE  
26 32222726  2,9x6,5 self-tapping screw9,5  
27 34115416  M5 nut with washerODE  
28 32238416  M3X18 Zn pem prisoner  
29 43035910  Drawer blocking spring assy  
30 20017510  Vega gearmotory  
31 20017910  double spiral motor for Vega60)  
32 43048610  Vega gearmot.shaft+gasket assy  

100 261  LAYOUT SPIRALI DISPONIBILI(139)  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   16

 ASSEMBLY SHELF FE SANDWICHES (616)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  16

ASSEMBLY SHELF FE SANDWICHES (616) - Item detail:

Position Code Options Description

1 05127715  bottles support frontal partate  
2 21012811L24  bottles support)plsCAM  
3 05127815  bottles support bottom partate  
4 07034221  Ø 80 spiral - pitch 95-5 right  
5 43048610  Vega gearmot.shaft+gasket assy  
6 20016016  gearmotorpm  
7 22105612  drawer cableorion  
8 32224356  3.9x22 self-tapping screw  
9 32222726  2,9x6,5 self-tapping screw9,5  
10 35157616  plain washer Ø.4,3 ac.ODE  
11 07018611  vega motor shaft spring-971  
13 01824711  Sandwich drawer gearmotor internal support  
14 01824611  Sandwich drawer gearmotor external support  
15 01832411  Sandwich separator support  
17 34115416  M5 nut with washerODE  
18 32238156  M5X12 Zn pem prisoner  
19 12016116  drawer wheel piner  
20 05116416  vega drawer wheele  
21 34110316  Self-locking nut 5MA7  
23 12047321  Sandwich block  
25 34102716  M3 hexagonal nut  
26 01824211  Sandwich/snack drawer plate  
27 01824511  Drawer right steel guide  
28 21014341P  676/85 punched label holder  
29 01824411  Drawer left steel guide  
30 34110116  3MA selft-locking nut  
31 33050126  3.2x8 rivetODE  
32 34110216  4m self-locking nut  
33 32070816  TSP 4MA X 16 Zn screw  
34 32105616  TSP M 5X16 screw  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   18

 LAYOUT SPIRALI DISPONIBILI(139)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  18

LAYOUT SPIRALI DISPONIBILI(139) - Item detail:

Position Code Options Description

1 07018211-01L16  Ø 80 right spiral - 45 pitch-971  
2 07018111-01L16  Ø 68 right spiral - 35 pitch-971  
3 07018311-01L16  right spiral(diam.68 pitch45)-971  
4 07018511L16  Ø 68 right spiral - 30 pitch-971  
5 07020011-01L16  Ø 80 right spiral - 81 pit-971  
6 07020311L16  Ø 80 right spiral - 22 pitch-971  
7 07018911L16  Ø 68 right spiral - 60 pitch-971  
8 07018811L16  Ø 68 right spiral - 22 pitch-971  
9 07021111L16  Ø 68 right spiral - 94 pitch-971  
10 07018711-01L16  Ø 80 right spiral - 37 pitch-971  
11 07019311L16  Ø 68 right spiral - 77 pitch-971  
12 07019411L16  Ø 80 right spiral - 60 pitch-971  
13 07024211L16  RT spiral D=68 Pitch 22 w/rod  
14 07019811-01L16  Ø 68 left spiral - 45 pitc-971  
15 07019611L16  Ø 68 left spiral - 60 pitch-971  
16 07019511L16  Ø 68 left spiral - 77 pitch-971  
17 07021011L16  Ø 80 left spiral - 22 pitch-971  
18 07021211L16  Ø 68 left spiral - 94 pitch-971  
19 07021611-01L16  Left spiral D=68 Pitch 35 VEGAmatic water  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   20

Group charts 

 BV676CL02GG - BVM676 700 183 LXCO 3°
 COOLING UNIT



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   21

 ASSEMBLY COOLING GROUP (607)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  21

ASSEMBLY COOLING GROUP (607) - Item detail:

Position Code Options Description

1 90015510-01  BVM676/85 cooling unit  
2 26023316  temp. probesie l  
3 22128912  VEGA 850 probe cablesor  

100 1322  COMPONENTS COOLING GROUP (608)  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   23

 COMPONENTS COOLING GROUP (608)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  23

COMPONENTS COOLING GROUP (608) - Item detail:

Position Code Options Description

1 43034010  BV685 evaporator w/fan assy  
2 43033716  BV685 cooling unit evaporator  
3 43033816  BV685 cool unit ext.plate+fan  
4 43033916  BV685 cool unit evaporator fan  
5 43034116  BV685 cooling unit condenser  
6 43034426  COMPR.X GR-FRIGO BV685 T6213Z  
6 43034416  BV685 cooling unit compressor  
7 43034616  BV685 motor fan + cable  
8 43034516  BV685 cool unit compressor fan  
9 90013816  TMV/IMOLA filter680  
10 43034326  BV685 cool. unit re lé NEK6212  
11 43034226  BV685 cool.unit clixon NEK6212  
12 05119516  condensation drain V850lver  
12 43126616  Drops collect.tray 280x130x40  
13 43126516  D.20X50 strainer w/nut/sheath  
14 09027623  12x16 L=700 PVC pipe581  
15 43034216  BV685 cooling unit clixon  
16 43034336  BV685 cool. unit re lé T6213Z  
17 43034316  BV685 cooling unit re lé  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   25

Group charts 

 BV676CL02GG - BVM676 700 183 LXCO 3°
 ELECTRICS & ELECTRONICS



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   26

 NEON-ELECTRIC COMPONENTS - POTENZA BOARD (643)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  26

NEON-ELECTRIC COMPONENTS - POTENZA BOARD (643) - Item detail:

Position Code Options Description

1 12016211  AMP connector screw V850er  
2 01490111-01  vega connector platelue  
3 22184010  Vega 6col.drawer gen.cable as.  
4 26050320P  Amortized security switch with fuse assy  
6 03220511-01  Fuse holder stirrup  
7 23014916  10 Amp. fuseable  
8 23017316  6.3x32 snap-type fuse holderable  
9 01808911  Switch mobile support  
10 26016726  safety switchm  
11 07018611  vega motor shaft spring-971  
12 30066731  10A fuse label  
13 30077911  ground plate pegasor  
14 30053411  iris voltage safety stiker110v  
15 30073811  ON-OFF switch label  
16 23031716  electronic reactor 2x30wer  
17 22181712-01  BV676/685 3° 230V gen. cable  
18 22181912  Fuses-net filter wiring  
19 22182612  676 react. resist. lamp power supply wiring  
20 23022716  lamp-holder15  
21 23021216-01  15W/865 Osram daylight lamp  
22 05245411  BVM676/85 cabinet up opaline  
23 19054411  rivet bushgroup  
24 23030916  fluo.lamp RADIUM 36W/10 L3610er  
25 05245331  BV676 LED cabinet side opaline  
26 22181812-01  230V interface cable  
28 26027516-01  SF0245A power board vegaio  
30 22125052  Master slave cable322mm  
31 26026326  net filter quick connection with cable  
33 05097215-02M09  Service key XT Clixon black am  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   28

 ELECTRONIC BLUE POWER BOARD (952)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  28

ELECTRONIC BLUE POWER BOARD (952) - Item detail:

Position Code Options Description

1 26027526  power board SMTcold MIC 256  



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   30

Group charts 

 BV676CL02GG - BVM676 700 183 LXCO 3°
 CABINET



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.   31

 CABINET AND COMPONENTS (751)



Bianchi Vending Group – Spare Parts Catalog

Saturday, June 23, 2012 - Pag.  31

CABINET AND COMPONENTS (751) - Item detail:

Position Code Options Description

1 03234912-01P48  BV676 SLAVE rivet.cabinet assy  
2 03218212  BV676/685IVS door upper hinge assy  
3 03218512  676/85 galvanized door lower hinge assy  
4 03237611P48  Air conveyer w/holes and cap  
5 03237411P48  Back air conveyer 90°  
6 03236311P48  Back air conveyer flat fold  
8 01472021  BV676/85IVS right tilting guide ass.  
9 01471721  right no-tilting guideBV676/85  
10 01471321  le ft non-tilting guideBV676/85  
11 12016116  drawer wheel piner  
12 05116416  vega drawer wheele  
13 01472221  BV676/85IVS left tilting guide ass.  
14 21057212  foot.assy (m10x40) - -bvm971  
15 03227811P77  BV676/685 evaporator closure  
15 03235712P54  BV676IVS skirting board assy  
16 03208211  Reflecting bulkhead  
17 01468421-02  spacer for Vega cabinet  


